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1. Introduction

In the last several SA2 meetings, it was found that ISR solution for CS fallback has several issues.  During the discussion in the SA2#68 the solution for those issues was decided. This contribution shows how one of those issues can be avoided by simplifying the ISR solution for CS fallback.

2. Discussion
2.1 Current ISR solution
The ISR solution described in 23.272 keeps either Gs to the SGSN or SGs to the MME active. When a TAU is performed the SGs is activated between the MME and MSC and the Gs is removed. When a RAU is performed the Gs is established between SGSN and MSC and the SGs is removed. For each UE there is hence only one interface active at the same time and the MSC sends paging over the currently active Gs or SGs interface. The paging messages are forwarded from SGSN to MME or from MME to SGSN to cover the cases where the UE is camping on LTE when it has a Gs interface active and vice versa.
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Note: This section is quoted from S2-085627 which mentions about Simplified ISR solution for CS fallback. 

2.2What is the problem

 The problem ocuurs when periodic timer expires in 2G/3G and the UE is camping on the LTE. In this situation, Gs association is released and MT CS services will fail until the UE performs the next TAU.  The figure below shows the outline of the problem.
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3. Solution decided by SA2
 SA2 have found ways the ISR solution for CS fallback as follows. 
1. if UE performed a LAU in 2/3G access then it must perform Combined TAU when back to LTE
2. if UE performed a combined RAU in 2/3G then it must perform a Combined TAU when back to LTE.
This would ensure that SGs is always active when the UE camps on LTE and resolve the problem
4. Proposal
It is proposed CT1 agree with C1-084631 based on decision made by SA2. 
The CR breaks down the solution 2 in section 3 above into stage 3 specification. 
_1280139473.ppt






MSC

MME

SGSN

UE

Idle UE, Gs is active

MT CS Service

Gs Paging

Page FW

LTE Paging

2G/3G Paging

MSC

MME

SGSN

UE

Idle UE, SGs is active

MT CS Service

SGs Paging

Page FW

LTE Paging

2G/3G Paging








_1286980271.ppt


E-UTRAN

MSC

MME

SGSN

UE

Idle UE, Gs is active

UE camping on LTE

Gs

S3

UTRAN/

GERAN

E-UTRAN

MSC

MME

SGSN

UE

Gs

S3

UTRAN/

GERAN

Idle UE, Gs association

released due to expiry

of periodic timer in 2G/3G








